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Introduction
Based on the work plan of NR NTN co-existence study, RAN4 need to discuss the ACLR and ACS requirements for satellite access node and UE for satellite access in this meeting. Thus, we’d like to provide our views based on our NR NTN co-existence simulation results in this meeting.
Discussion on ACLR requirement for satellite access node
According to the simulation assumption [1] for NTN co-existence study, the simulation results for case 3(Aggressor NTN DL and victim TN DL) can be used to derive the ACLR requirement for satellite access node.
The impacts of adjacent channel interference for victim AAS Urban scenario are negligible when we consider the ACLR requirement for Satellite access node. For scenarios with aggressor GEO, the impacts are less than the corresponding LEO scenarios. And the scenarios with aggressor GEO are not the worst scenarios when we consider the ACLR requirement for Satellite access node.
Observation 1: the simulation results for case 3(Aggressor NTN DL and victim TN DL) can be used to derive the ACLR requirement for satellite access. The worst scenarios are Aggressor LEO to Victim AAS Rural.
Based on our simulation results, 20dB ACIR is enough to ensure the adjacent channel co-existence. Given the terrestrial UE ACS is 33dB, the ACLR for satellite access node can be 20.22dB.
Proposal 1: To specify 20dB ACLR requirement for satellite access node.
Discussion on ACS requirement for satellite access node
According to the simulation assumption [1] for NTN co-existence study, the simulation results for both case 2(Aggressor TN UL and victim NTN UL) and case 6(Aggressor TN DL and victim NTN UL) can be used to derive the ACLR requirement for satellite access node.
Based on our co-existence simulation results, the ACIR can be 28~30dB for case 2 and the ACIR can be 36~38dB for case 6.
Given the terrestrial UE ACLR is 30dB, the ACS for satellite access node can be 32~43dB for 28~30dB ACIR range of case 2. Thus, case 2 is not suitable to specify the accurate ACS requirement for satellite access node.
Observation 2: case 2 is not suitable to specify the accurate ACS requirement for satellite access node.
Given the terrestrial BS ACLR is 45dB, the ACS for satellite access node can be 36.6~38.9dB for 36~38dB ACIR range of case 2.
Proposal 2: To specify 36dB ACS requirement for satellite access node.
Discussion on ACLR requirement for UE for satellite access
According to the simulation assumption [1] for NTN co-existence study, the simulation results for both case 4(Aggressor NTN UL and victim TN UL) and case 5(Aggressor NTN UL and victim TN DL) can be used to derive the ACLR requirement for UE for satellite access.
Based on the simulation results, the ACIR requirement for UE for satellite access can be less than 30dB for case 4 and the ACIR requirement for UE for satellite access can be less than 28dB for case 5.
Given the victim terrestrial BS ACS is 46dB for case 4 and the victim terrestrial UE ACS is 33dB for case 5, the ACLR requirement for UE for satellite access can be less than 30dB.
Observation 3: the ACLR requirement for UE for satellite access can be less than 30dB.
Discussion on ACS requirement for UE for satellite access
According to the simulation assumption [1] for NTN co-existence study, the simulation results for case 1(Aggressor TN DL and victim NTN DL) can be used to derive the ACS requirement for UE for satellite access.
Based on the simulation results, the ACS requirement for UE for satellite access can be 32dB for case 1.
Given the victim terrestrial BS ACLR is 45dB for case 1, the ACS requirement for UE for satellite access can be 33dB.
Observation 4: the ACS requirement for UE for satellite access can be 33dB.
3 Summary
Based on the discussion, all the observations and proposals are listed below:
Observation 1: the simulation results for case 3(Aggressor NTN DL and victim TN DL) can be used to derive the ACLR requirement for satellite access. The worst scenarios are Aggressor LEO to Victim AAS Rural.
Proposal 1: To specify 20dB ACLR requirement for satellite access node.
Observation 2: case 2 is not suitable to specify the accurate ACS requirement for satellite access node.
Proposal 2: To specify 36dB ACS requirement for satellite access node.
Observation 3: the ACLR requirement for UE for satellite access can be less than 30dB.
Observation 4: the ACS requirement for UE for satellite access can be 33dB.
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